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TEST 3: PART 1: MULTIPLE CHOICE - SELECT  BEST ANSWER FOR EACH QUESTION! 2 PTS EACH


1) The central nervous system includes all the following EXCEPT? 

a) brain
b) spinal cord
c) nerve
d) tracts
e) nuclei



2) Which of these supporting cells circulates CSF in the central nervous system?

a) satellite cells
b) oligodendrocytes
c) microglia
d) astrocytes
e) ependymal



3) Which of these is a structural classification for sensory neurons?

a) multipolar
b) unipolar
c) sensory
d) interneuron
e) bipolar



4) The gated channels that open in response to changes in membrane potential (i.e. Na+ and K+) are:

a) ligand
b) light
c) mechanical
d) voltage
e) leakage



5) Which of these statements is FALSE about Membrane Potentials?

a) graded potentials decrease in strength with the distance they travel
b) action potentials travel by salutatory conduction in myeleinated neurons
c) graded potentials have an all-or-none phenomenon
d) graded potentials originate at the dendrites
e) action potentials travel great distances



6) Which of these WOULD be associated with the postsynaptic membrane?

a) synaptic vesicles
b) ACh
c) axon terminals
d) receptors
e) (test said which is not found, but there is just one above that’s correct)



7) An inhibitory post-synaptic potential (IPSP) is a result of a _____?

a) depolarization
b) repolarization
c) hyperpolarization
d) polarization
e) a and c both



8) Which of these meninges is closest to the spinal cord?

a) dura mater
b) arachnoid
c) subarachnoid
d) pia mater
e) epidural space



9) The term for moving up & down the spinal cord during a reflex is called _____?

a) contralateral
b) intersegmental
c) reciprocal innervation
d) agonist reflex
e) ipsilateral



10) Which of these would NOT be characteristic of a stretch reflex?

a) monosynaptic
b) has a motor neuron
c) effector relaxes
d) receptor is a muscle spindle
e) has a sensory neuron



11) The connective tissue covering around an axon is the _______

a) epineurium
b) perineurium
c) perimysium
d) endomysium
e) endoneurium



12) Which of these would NOT be characteristic of a Flexor-withdrawal reflex?

a) receptors = free naked nerve endings
b) monosynaptic
c) effector contracts
d) has reciprocal innervation
e) is ipsilateral



13) Which of these statements is FALSE about the spinal cord?

a) there is a ganglion in the posterior root
b) sensory neurons are located in the posterior root
c) anterior fissure is white matter
d) anterior horn is gray matter
e) the central canal is located in the white matter



14) The protective layer for the brain that is made up of “seamless”, selective, tight junctions and astrocytes is the ________

a) bone layer
b) meningeal layer
c) blood-brain barrier
d) cerebral spinal fluid
e) brainy babies



15) Which of these brain structures produces CSF?

a) cerebrum
b) choroid plexus
c) blood-brain barrier
d) medulla oblongata
e) cerebellum



16) The region of the brain that contains the thalamus is the ______

a) telencephalon
b) diencephalon
c) mesencephalon
d) metencephalon
e) myelencephalon



17) Which of these structures controls blood vessel diameter?

a) hypothalamus
b) pituitary gland
c) medulla oblongata
d) epithalamus
e) midbrain



18) Which of these statements is FALSE about the brain?

a) the reticular formation is found in the brainstem
b) the precentral gyrus controls body motor activities
c) the corpus callosum connects the cerebral hemispheres
d) left-hemisphere people are right-handed
e) the parietal lobe controls motor speech



19) Which of these is produced by Schwann cells? (should say: made possible)

a) modality
b) transduction
c) saltatory conduction
d) phasic adaptation
e) cutaneous combustion



20) Which of these brain regions would NOT be part of the brainstem?

a) breathing center
b) vomiting center
c) visual reflexes
d) filtering & alerting center
e) thirst center



21) Which of these receptors is for pain?

a) mechanoreceptor
b) proprioceptor
c) photoreceptor
d) chemoreceptor
e) nocioceptor



22) Which of these would not be associated with a “special” sense?

a) mechanoreceptor
b) semicircular canals
c) photoreceptor
d) hair cells
e) optic nerve



23) Which of these is where you would perceive “crude perception” of sensations?

a) thalamus
b) hypothalamus
c) cerebellum
d) medulla oblongata
e) temporal lobe



24) Which of these receptors would be bipolar?

a) mechanoreceptor
b) receptors of the nose
c) Pacinian corpuscle
d) chemoreceptor of the tongue
e) nocioceptor



25) Which of these structures would NOT transmit sound?

a) external auditory meatus/canal
b) tympanic membrane
c) Eustachian tube
d) stapes
e) scala tympani



26) Which of these statements is FALSE?

a) gustatory cells are in the taste bud
b) olfactory supporting cells or PSCCET
c) photoreceptors in the retina
d) chemoreceptors are located in the nose
e) taste buds are located on the sides of papillae



27) (Which) of these is involved in static equilibrium?

a) vestibule
b) semicircular canals
c) pinna
d) Cochlea
e) mucus glands



28) Which of these structures is an accessory structure of the eye?

a) vitreous humor
b) eyelash
c) choroid
d) retina
e) lens



29) The ciliary process produces which of these substances?

a) natural opiates
b) antibodies
c) CSF
d) mucus
e) aqueous humor



30) The region of the eye that has the highest cone density & sharpest vision receptors is _____

a) optic nerve
b) lens
c) macula lutea
d) aqueous humor
e) vitreous humor



31) The structure that would be part of the organ of corti is the ________

a) ciliary gland
b) tarsal gland
c) bee
d) ceruminous gland
e) hair cell



32) Sound waves would go to which of these structures next after the vestibular membrane?

a) hair cells
b) scala vestibuli
c) tectoral membrane
d) oval window
e) round window



33) Which of these statements is false about Autonomic reflexes?

a) exteroceptors
b) can have smooth muscle as an effector
c) sensory neurons
d) 1 interneuron
e) 2 motor neurons



34) Which of these is NOT characteristic of the Parasympathetic nervous system?

a) long preganglionic neurons
b) control the lacrimal apparatus
c) come from the craniosacral regions of the spinal cord
d) E/Ne as a neurotransmitter
e) localized effects



35) The receptors that would respond to Epinephrine (E) would be ________

a) beta
b) nicotinic
c) cupulic
d) muscanaric
e) all of the above



Bonus Question of the Semester – How many times does your tongue’s receptors turn over each month?

a) 1

b) 2

c) 3

d) 4


PART 2. MATCHING SELECT THE BEST NUMBER FOR EACH, 2 PTS EACH; (20 PTS) Cranial Nerves:

	51) olfactory
52) optic
53) glossopharyngeal
54) accessory
55) trigeminal
56) abducens
57) facial
58) vestibularcochlear
59) vagus
60) hypoglossal
	1) no sensory function but moves the tongue
2) sensory nerve to monitor expansion of stomach
3) moves the eye and no sensory function
4) sensory fibers to the face, motor fibers to the masseter muscles
5) sensory, involves vision & no motor function
6) sensory nerve for hearing and balance/equilibrium
7) facial expression and taste
8) used in smell & hopefully no motor functions
9) involved in taste and saliva production
10) nerve that stimulates the sternocleidomastoid
11) sensory nerve found in the cerebrum


PART 3. DISCUSSION QUESTION (10 pts)
Use the diagram drawn below and BRIEFLY name the regions and what is happening to sodium (Na+) and potassium (K+) at those locations.

1            2a       2b       3


1.

2a.

2b.

3.

4. In what region of the neuron does this begin? ______ __________
